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K4 (F588) | out IN |GROSS| HDCP| NET TOTAL
-3 th 5§ 43 40 83 | 84 | 746
1 +ik 41 48 89 [ 180 [ 71.0
far &iE 46 | 47 | 93 | 192 | 7138 218.2
LA 41 36 77 36 | 734
K& (JFrEg) | ouT IN |GROSS| HDCP | NET TOTAL
= A 45 45 90 | 156 | 74.4
2 g 48 46 94 | 204 | 73.6
iz CE3 50 | 50 | 100 | 22.8 | 77.2 220.2
W3 42 47 89 | 168 | 72.2
K& (JFrEg) | ouT IN |GROSS| HDCP | NET TOTAL
= b 5 38 37 75 | 36 | 714
3 A 42 37 79 | 60 | 73.0
iz &5 44 | 51 | 95 | 168 | 782 221.6
[iic] :2| 47 41 88 | 108 | 77.2
K4 (#58&) | out IN |GROSS| HDCP| NET TOTAL
= = 42 46 88 | 144 | 736
4 i) =] 45 42 87 | 132 | 738
Ui EM[ 46 | 44 | 90 | 156 | 744 221.8
KR 53 61 114 | 25.2 | 88.8
KL (&#R) | out [ IN |GROSS| HDCP| NET TOTAL
= B2 43 43 86 | 12.0 | 740
5 I\B 44 48 92 | 180 | 74.0
Ui BE 52 | 46 | 98 | 240 | 740 222.0
BA 54 [ 47 | 101 | 240 [ 77.0

K4 (&) | out IN |GROSS| HDCP| NET TOTAL
= Fi8 41 40 81 36 | 774
6 55 47 46 93 | 18.0 | 75.0
fir &= 49 | 43 | 92 | 180 | 740 222.8
h B 37 38 75 12 | 738
K4 (88 | out IN |GROSS| HDCP| NET TOTAL
= NG 47 44 91 [ 120 | 79.0
7 LA 40 44 84 72 | 76.8
fiz AR 46 | 41 | 87 | 132 | 138 222.8
A28 43 52 95 | 228 | 72.2
K& (BFrBg) | out IN |GROSS| HDCP | NET TOTAL
= [iif] 22| 43 40 83 | 96 | 734
8 [iif] 22| 40 45 85 | 84 | 76.6
fiz ES 44 | 41 85 | 120 | 730 223.0
0 0.0
K& (BFrBg) | out IN |GROSS| HDCP | NET TOTAL
% A EH 48 52 100 | 216 | 78.4
9 kO 51 52 103 | 276 | 75.4
iz = 46 | 43 | 89 | 156 | 734 223.4
EAH 43 46 89 | 144 | 746
K4 (BF#R88) | out IN |GROSS| HDCP| NET TOTAL
% b5 43 40 83 | 48 | 78.2
F B 48 49 97 | 204 | 76.6
0
& Xxa 42 | 49 | 91 | 168 [ 74.2 223.6
ok 34 43 43 86 | 132 | 72.8
K& (JFrBg) | out IN |GROSS| HDCP| NET TOTAL
% g3 48 46 94 | 156 | 784
=+
1 = H 38 44 82 | 84 | 736
fir =1l 42 | 40 | 82 | 72 | 748 225.0
MES 43 48 91 | 144 | 76.6




K4 (JF5B%) | ouT IN |GROSS| HDCP| NET TOTAL
% Jtid 46 39 85 96 | 75.4
K 41 41 82 | 72 | 748
2
i =8 47 46 | 93 | 16.8 | 76.2 226.4
=& 49 45 94 | 132 | 80.8
o | B GHFFBE) | OUT | IN |GROSS| HDCP| NET TOTAL
T = 54 52 | 106 | 288 | 77.2
*H 46 41 87 | 144 | 726
3
I A+ 48 | 52 | 100 [ 228 | 77.2 2217.0
=% 48 | 48 | 96 | 18.0 [ 78.0
K4 (B#588) | out IN |GROSS| HDCP| NET TOTAL
% R 45 | 42 | 87 | 108 | 762
"R 45 47 92 | 168 | 75.2
4
D Bl 42 52 94 | 180 | 76.0 227.2
2
E 52 54 106 | 30.0 | 76.0
K4 (B#8g) | out IN |GROSS| HDCP| NET TOTAL
% Fil 43 | 44 | 87 | 108 | 762
k5 44 49 93 [ 156 | 774
5
o £ H 49 | 44 | 93 [ 168 | 76.2 227.2
HR 45 49 94 | 192 | 748
K4 (BF#8g) | out IN |GROSS| HDCP| NET TOTAL
% Ba 40 46 86 | 120 | 74.0
i H 50 51 101 | 240 | 77.0
6
I BRI 64 | 53 | 117 | 348 | 82.2 227.2
RiIH 52 | 53 | 105 | 28.8 [ 76.2
K& (SFrBg) | OuT IN [GROSS| HDCP| NET TOTAL
% F 5 46 44 90 | 156 | 744
hE 51 44 95 | 144 | 80.6
7
Yod i 44 | 51 95 | 192 | 7538 228.6
pi=i 53 47 | 100 [ 216 | 78.4

K4 (BFB8) | out IN |GROSS| HDCP| NET TOTAL
% EE 49 | 44 | 93 | 204 | 726
XE 60 57 117 | 324 | 84.6
8
I JIlE 48 50 98 | 216 | 764 228.6
RE 51 49 100 | 204 | 79.6
K4 (JFRR8) | ouT IN [GROSS| HDCP| NET TOTAL
% LA 49 | 49 | 98 | 276 | 704
9 B 55 | 47 | 102 | 228 | 79.2
fir p ki 51 50 | 101 | 216 | 79.4 229.0
BRER 61 50 | 111 [ 288 | 82.2
K4 (F#8) | out IN |GROSS| HDCP| NET TOTAL
f F 5 39 43 82 | 60 | 76.0
F 5 53 52 | 105 | 216 | 83.4
0
fir XH 45 | 44 | 89 | 132 | 758 229.4
AR 50 54 104 | 264 | 77.6
K4 (F#88) | out IN |GROSS| HDCP | NET TOTAL
% 3 43 | 41 | 84 | 72 | 768
A 57 55 | 112 | 336 | 784
1
£ [ Fis 54 | 55 | 109 | 34.8 | 74.2 229.4
0 0.0
K4 (F#88) | out IN |GROSS| HDCP | NET TOTAL
f Ak 46 46 92 [ 132 | 788
R 52 57 | 109 | 30.0 | 79.0
2
i B’A 48 | 51 | 99 | 240 | 75.0 229.6
BRI 47 | 42 | 89 | 132 [ 758
K4 (JFRE8) | ouT IN [GROSS| HDCP| NET TOTAL
% F5 45 44 89 | 108 | 78.2
F5 47 48 95 | 180 | 77.0
3
£ BEE 49 | 38 | 87 | 108 |76.2 230.0
HEE 38 | 46 | 84 [ 72 [768




K4 (¥ | out IN |GROSS| HDCP| NET TOTAL
% fil 47 51 98 | 18.0 | 80.0
B 43 53 96 | 16.8 | 79.2
4
Iod il S 44 | 50 | 94 |[18.0 | 76.0 230.0
A 44 44 88 | 132 | 748
K4 (F588) | out IN |GROSS| HDCP| NET TOTAL
ﬁz-: R A 48 56 104 | 180 | 86.0
J\$R 48 53 101 | 216 | 79.4
5
I thH 49 | 44 | 93 | 180 | 75.0 230.0
thH 49 53 | 102 | 26.4 | 75.6
K& (JFrEg) | ouT IN |GROSS| HDCP | NET TOTAL
f Hg 48 48 96 | 192 | 76.8
FMAH 51 57 108 | 31.2 | 76.8
6
I e+t 54 | 49 | 103 | 264 | 76.6 230.2
15 49 58 107 | 288 | 78.2
K4 (#58&) | out IN |GROSS| HDCP| NET TOTAL
f Si# 46 | 49 | 95 | 180 [ 770
=+
7 = H 53 47 100 | 204 | 79.6
Iod FH 46 | 50 | 96 | 204 [ 75.6 230.2
E 46 46 92 | 144 [ 776
K4 (#58&) | out IN |GROSS| HDCP| NET TOTAL
f EYHET 51 | 45 | 96 | 168 | 79.2
iVl 57 44 | 101 | 216 | 79.4
8
Yo A+t 46 | 48 | 94 | 204 [ 73.6 230.4
3 49 55 | 104 | 26.4 | 77.6
K& (JFrB%) | ouT IN |GROSS| HDCP| NET TOTAL
f AEIE a1 | 40 | 81 | 48 | 762
BX 48 41 89 | 132 | 758
9
I i 52 | 50 | 102 | 18.0 [ 84.0 231.0
TS 54 49 103 | 240 | 79.0

K4 (FRR8) | out IN |GROSS| HDCP| NET TOTAL
% BRE 56 51 107 | 276 | 79.4
X H 51 41 92 | 156 | 76.4
0
I A+ 44 | 46 | 90 | 144 | 756 2314
EF 51 55 | 106 | 21.6 | 84.4
K4 (88 | out IN |GROSS| HDCP| NET TOTAL
% = 47 42 89 | 108 | 78.2
1 (VKD 54 | 51 | 105 | 240 [ 810 | noq g
o1 <0 49 47 96 | 21.6 | 74.4 .
i =] 53 43 96 | 16.8 | 79.2
K& (BFrBg) | out IN |GROSS| HDCP | NET TOTAL
% Rk 43 M 84 | 84 | 756
Rk 49 48 97 | 204 | 76.6
2
i Be 50 | 46 | 96 | 156 | 80.4 232.6
Be 56 | 48 | 104 | 216 | 824
K4 (BF#R88) | out IN |GROSS| HDCP| NET TOTAL
% M 45 | 49 | 94 | 192 | 748
(9]l 51 52 | 103 | 252 | 77.8
3
& &H 55 | 63 | 118 [ 36.0 | 82.0 234.6
NI 63 61 124 | 36.0 | 88.0
K4 (BF#R88) | out IN |GROSS| HDCP| NET TOTAL
% S 49 | 44 | 93 | 168 | 762
kA 55 59 114 | 312 | 82.8
4
fir = 48 54 | 102 | 25.2 | 76.8 235.8
0 0.0
K& (JFr8) | out IN |GROSS| HDCP | NET TOTAL
% ¥H 51 | 44 | 95 | 180 | 77.0
BR= 52 50 | 102 | 228 | 79.2
5
& A+t 45 | 49 | 94 | 132 [ 808 236.2
E% 50 | 54 | 104 [ 240 | 80.0




K4 (¥ | out IN |GROSS| HDCP| NET TOTAL
% X F 52 48 100 | 204 | 79.6
X F 48 47 95 | 156 | 79.4
6
& Ak 47 49 | 96 | 168 | 79.2 236.4
FaA 46 45 91 [ 132 | 778
K4 (F588) | out IN |GROSS| HDCP| NET TOTAL
%‘5 & H 46 44 90 | 156 | 74.4
-l 50 57 107 | 252 | 818
7
o B 52 | 45 | 97 | 16.8 | 80.2 236.4
ER 57 | 60 [ 117 | 32.4 | 846
K& (JFrEg) | ouT IN |GROSS| HDCP | NET TOTAL
f =£H 56 51 107 | 300 | 77.0
=vith 46 49 95 | 192 | 75.8
8
I ER 56 | 54 | 110 | 26.4 | 83.6 236.4
INFR 67 55 122 | 36.0 | 86.0
K4 (#58&) | out IN |GROSS| HDCP| NET TOTAL
f 3L 45 38 83 | 84 | 746
N 59 58 | 117 | 336 | 83.4
9
14 N 67 | 57 [ 124 | 324 | 916 237.2
£ H 49 53 102 | 228 | 79.2
K4 (#58&) | out IN |GROSS| HDCP| NET TOTAL
f 2 49 | 49 | 98 | 216 | 764
0 HE 556 | 52 | 107 | 26.4 | 80.6
Ry HE 49 57 | 106 | 25.2 | 80.8 2317.8
v
B 50 64 | 114 | 300 | 84.0
K& (JFrB%) | ouT IN |GROSS| HDCP| NET TOTAL
f BH Bk 54 45 99 | 16.8 | 82.2
AT 54 50 104 | 276 | 76.4
1
o AT 74 | 72 | 146 | 360 [110.0 239.0
fE 52 62 114 | 336 | 80.4

K4 (FRR8) | out IN |GROSS| HDCP| NET TOTAL
% &8 49 50 99 [ 192 | 79.8
BRA 49 49 98 | 204 | 776
2
& AH 50 | 39 | 89 | 72 |818 239.2
0 0.0
K4 (88 | out IN |GROSS| HDCP| NET TOTAL
% BB 47 50 97 | 18.0 | 79.0
3 A F 57 | 51 | 108 | 252 | 828
fir = 56 | 61 | 117 | 36.0 | 81.0 240.0
b=101 42 50 92 | 12.0 | 80.0
K& (BFrBg) | out IN |GROSS| HDCP | NET TOTAL
% L5l 53 47 100 | 216 | 78.4
Be 60 57 117 | 36.0 | 81.0
4 125
Yivd P 52 | 57 | 109 | 26.4 | 82.6 242.0
0 0.0
K4 (BF#R88) | out IN |GROSS| HDCP| NET TOTAL
% B 58 49 | 107 | 276 | 79.4
5 =34 48 | 50 | 98 | 192 | 788
I e+ 57 | 55 | 112 | 276 | 84.4 242.6
0 0.0
K4 (BF#R88) | out IN |GROSS| HDCP| NET TOTAL
% X% 50 | 54 | 104 | 228 | 812
X =F 54 51 105 [ 252 | 79.8
6
fir K 53 | 50 [ 103 | 204 | 826 243.6
B4 58 64 | 122 | 36.0 | 86.0
K& (JFr8) | out IN |GROSS| HDCP | NET TOTAL
% 295, 51 | 56 | 107 | 228 | 84.2
H 52 54 106 | 25.2 | 80.8
7
e 935 51 56| 107 | 26.4 | 80.6 245.6
0 0.0




K4 (¥ | out IN |GROSS| HDCP| NET TOTAL
% 3L 51 55 106 | 30.0 | 76.0
IR 67 61 128 | 36.0 | 92.0
8
" U] 56 | 56 | 112 | 33.6 | 78.4 246.4
LT 70 70 140 | 36.0 [104.0
K4 (F588) | out IN |GROSS| HDCP| NET TOTAL
% ;th H 59 56 115 | 288 | 86.2
KA 56 51 107 | 228 | 84.2
9
I B 51 | 48 | 99 | 204 | 78.6 249.0
0 0.0
K& (JFrEg) | ouT IN |GROSS| HDCP | NET TOTAL
f RiL 52 46 98 | 216 | 76.4
N 66 61 127 | 36.0 | 91.0
0
i b [ 55 59 114 | 288 | 85.2 252.6
0 0.0
K4 (#58&) | out IN |GROSS| HDCP| NET TOTAL
f $n il 50 50 | 100 | 240 | 76.0
INFR 59 63 122 | 36.0 | 86.0
1
I U] 55 | 61 | 116 | 24.0 | 92.0 254.0
T 72 66 138 | 36.0 [102.0
K4 (#58&) | out IN |GROSS| HDCP| NET TOTAL
f BT 51 | 45 | 96 | 192 | 76.8
N 70 73 143 | 36.0 [107.0
2
I /NS 57 | 60 | 117 | 324 | 846 261.4
T 72 64 | 136 | 36.0 [100.0




